EXAM 1 Name /ﬁ%

Math 3413 d
9.20-13

Instructions Work all of the following preblems in the space provided. If there is mot emough. room, you may
write on the back sides of the pages. Give thorough explanations to receive full credit.

1. (10 points) Determine whether y = 7% is a solution of the equation
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2. (15 points) Consider the lnear equation
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b) Find the particular solution which satisfies the condition y(0) = 4. . ) |
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3. (18 points) Find the general solution of the equation

dy = 3;@
dr 2y 2z

(Hint: the equation is homogeneous. Put y = vz and reduce to a separable equation for v.)
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4. (15 points) For the exact differential equation,

(32? + 4zy) + (222 + 2y))% =

0,

find the general solution by giving an implicit equation for y.

Lo govsabl sofution s Flry)>C whee I = Ztedxy =
D oo 4E & 72x2+ 2y
K
Tloam IS S (3&{(‘(?‘3)—‘ 34 2)(23\&3(3);@
00 J9F - 2 gy s 2ty bl mplies g)e2y
= O+ 23 gly) '@“r Y oy

S——

3
o gy 0O % oo 2y ey o

%u;&,\ ;"‘*‘Pl\‘f‘&/(j Q)X 7<2+2)3§f+3)+D=C , o 7(3+2\83 'ﬁ&flt E:]
| @

&

5. (15 points) Find the general solution of

(Himt: Since y does not appear in the equation, you should substitute p = dy/dz.)
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6. (17 poimts) Find the solution of the equation

dy &y o
-5~ 75 +iy=0

which satisfies the imitial conditions y(0) = 2 and ¥/(0) = 1. _
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7. (10 points) Find the general solution of the equation

Py _dy _
=3 —8 - +16y=0.
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